2017-10-25 2017-10-25

12 tables, 24 pairs. Number of boards: 24. Average: 264. Tiebreak.

Final result

Rank Pair
1 11
2 22
3 8
4 5

12
6 27
7 23
g8 32
9 29
10 4
11
12 31
13 28
14 3
15 6
16 1
17 10
18 25
19 26
20 24
21 30
22 7
23
24 21

Score

345
337
303
296
296

287
279
278
271
271

269
266
263
260
259

257
249
247
233
231

228
222
199
190
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%

65,3
63,8
574
56,1
56,1

54,4
52,8
52,7
51,3
51,3

50,9
50,4
49,8
49,2
49,1

48,7
47,2
46,8
44,1
43,8

43,2
42,0
37,7
36,0

Tie Name

[\S]

Johan C Sandberg - Ellen Haaland
Karin Olséni - Anders Olséni

Peter Norberg - Ulla Norberg
Gunilla Soderlind - Bengt Soderlind
Terje Ward-Johansen - Knut Lie

Giindor Rentsch - Gunilla Rentsch
Margareta Hulthén - Olle Hulthén
Yvonne Lindell - Jan Lindell

4e Gist - 3e Gist

Birgitta Larsson - Siv Harrysson

Per-Erik Simonsson - Gunnel Simonsson
Hanna Gertzen - Hans Gertzen

Karin Bjérklund - Tomas Bjérklund

Ake Rietz - Gunilla Rietz

Christina Hamacher - Hans-Henrik Hamacher

Lennart Carlsson - Gunilla Johansson
Tommy Lindqvist - Ingrid Steen
Lilian Sandsten - Ragnar Sandsten
Bjorg Bugge - Lena Perier

Danice Keathly - Karl Persson

Lis Somander - Bjorn Somander

Owe Hallquisth - Elisabeth Hallquisth
Viveca Kaver - Arne Kaver

Annika Hertzberg - Bengt Hertzberg

M-ID

1110
1025
1201
1059
1024

1050
1055
1057

1109
1026
1200
1060
1077

1049
1056
1058

9004 9003

1063

1016
1161
1205
1028
1013

1105
1046
1005
1023
1208

1131
1152
1007
1182

1149

1015
1162
1206
1027
1014

1104
1045
1006
1127
1207

1130
1153
1008
1183



2017-10-25 2017-10-25 Final result

12 tables, 24 pairs. Number of boards: 24. Average: 264. Tiebreak.

Board: 1 Board: 2 Board: 3
Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score

121 6¢ N +1 vQ 940 22 0 | 1130 4¢ S +1 vA 150 21 1| 24 3 2¢ W -2 ¢9 200 22 0
529 3N S +1 v] 430 20 2 | 24 8 2N S +1 v2 150 21 1 132 3% S +2 4K 150 19 3
1130 5¢ S = v] 400 18 4 | 427 3¢ S +19vA 130 16 6 | 1129 3¢ N +2 99 150 19 3
427 3¢ S +34Q 170 15 7 631 3¢ S +1vA 130 16 6 | 222 2« S +2 aK 130 12 10
631 3¢ S +3v] 170 15 7 | 1232 4¢ S = vA 130 16 6 | 528 24 S +2v4 130 12 10
1232 4¢ S +1 &K 150 1111 | 23 2 2¢ N +1vA 110 1210 | 823 3« S +1 aK 130 12 10
24 8 3¢ S 2wl 150 11 11 529 2v W -2 «A 100 913 | 1027 3« S +1 vA 130 12 10
722 3¢ S +1v] 130 814 | 25 3 24 E -2 ¢«A 100 913 | 21 7 2% S +2 48 130 12 10
23 2 1a N = &10 80 616 121 2¢ W -1 4] 50 517 | 25 9 3% S = aK 110 616
926 5¢ N -1 a2 50 220 | 926 24 E -1 ¢10 50 517 | 1231 34 E -1 «A 100 418
1028 5¢ N -1 vQ 50 220 | 1028 2v W = a4 -1100 220 | 26 4 3v N -1 a3 -50 220
25 3 5¢ S -1 #3 -50 220 | 722 3N S -3 w2 300 022 | 630 24 E = &A -110 022
Board: 4 Board: 5 Board: 6

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score

528 1a E -2 vA 200 21 1 131 3¢ E -1 a8 50 19 3 2610 3N S +2 &5 460 22 0
1129 IN W -2 «2 200 21 1 221 3N W -1 a5 50 19 3 1128 3N S +1 «2 430 20 2
823 IN S +2 v6 150 17 5 1128 IN E -1 «4 50 19 3 323 3N N = &7 400 15 7
1231 IN S +2 a4 150 17 5|25 4 3N E -1 &8 50 19 3 629 3N S = «6 400 15 7
630 IN S +1 »10 120 14 8 323 2¢ E = a2 90 1012 | 1230 3N S = 9 400 15 7
1027 IN N = a5 90 10 12 732 IN W = &2 90 1012 | 27 5 3N N = 3 400 15 7
25 9 IN S = ¥9 90 1012 | 1230 IN W = a5 90 1012 | 22 8 3¢ S +1 vA 130 10 12
26 4 IN N = 3 90 1012 | 22 8 IN E = a8 90 10 12 221 3¢ N = 3 110 8 14
24 3 1l S = &5 80 616 | 27 5 IN W = aJ 90 10 12 732 3¢ N -1 &8 50 517
21 7 1l¢ N = ¥3 70 418 629 24 W = o3 -110 220 924 3N S -1 vA 50 517
222 3N S -1 a7 -100 2 20 924 1v W +1 a5 -110 220 131 460 S -2 ¢6 -100 121
132 3N S -2 v6 200 022 | 2610 2¢ E +1 a3 -110 220 | 25 4 3¢ N -2 &8 -100 121
Board: 7 Board: 8 Board: 9

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score

23 9 4v W -3 49 300 22 0 | 23 9 3N N +2 ¢8 460 22 0 | 27 6 2« S +1 ¢3 110 22 0
821 2v W+l a4 -140 20 2 424 4v N +1 42 450 18 4 129 24 N -2 vA -100 19 3
424 IN E 43 ¢4 -180 17 5 | 26 5 4v N +1 a8 450 18 4 832 34 S -2 92 -100 19 3
731 2N E +2 ¢4 -180 17 5 | 28 6 4v N +1 7 450 18 4 321 2¢ E = A -110 16 6
130 IN E +5 a4 -240 13 9 322 4v N = +K 420 913 525 2v E +1 ¢4 -140 12 10
1025 IN E +5 a2 240 13 9 731 4¢v N = &6 420 913 730 3v E = «Q -140 12 10
232 3N W+l a7 -630 8 14 821 4v N = oK 420 913 922 2v E +1 4] -140 12 10
322 3N E +1 ¢4 -630 814 | 1025 44 N = o8 420 913 | 2410 2N S -3 »2 -150 8 14

27 11 3N W +1 a6 -630 814 | 1229 4¢ N = oK 420 913 231 2¢ E +2 %A -170 319
1229 3N W +2 a7 -660 220 | 2711 4v N = a8 420 913 423 2¢v E +2 «Q -170 319

26 5 3N E +2 a5 -660 2 20 232 2v N +2 a8 170 220 | 1126 3v E +1 a7 -170 319

28 6 3N E +2 49 -660 220 130 4v N -1 K 50 022 | 2812 2v E +2 a7 -170 319
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2017-10-25 2017-10-25 Final result

12 tables, 24 pairs. Number of boards: 24. Average: 264. Tiebreak.

Board: 10 Board: 11 Board: 12
Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score

321 3¢ S 2 vK 150 22 0 | 1023 24 N +1 v2 140 22 0 524 24 W -2 ¢10 100 21 1
832 3a N = «Q 140 20 2 128 34 S -2 vA -100 19 3 1227 IN W -2 a7 100 21 1
129 3¢ S +1 aA 130 17 5129 7 34 N -2 92 -100 19 3 1023 1« W -1 A3 50 18 4
1126 3¢ S +1 vK 130 17 5 626 2¢ W = al0 -110 15 7 332 1« E +1 aQ 90 14 8
2410 24 N = 2 110 13 9 831 2¢v W = aQ -110 15 7 422 2¢ W = 410 90 14 8
2812 3¢ S = ¢K 110 13 9 332 2v E +1 aQ -140 616 626 IN W = al0 90 14 8
423 3v E -1 a9 100 10 12 422 2v W+l aQ -140 616 831 24 N -1 o5 -100 913
525 34 N -1 «Q -100 517 524 2¢ W +1 «K -140 616 | 30 2 34 N -1 &3 -100 913
730 24 N -1 «Q -100 517 921 2v W +1 aQ -140 616 128 1« W+2 w10 -110 517
922 24 N -1 «Q -100 517 | 1227 2¢ W +1 aK -140 616 | 2511 34 W = o7 -110 517
27 6 3a N -1 4 -100 517 | 2511 2¢ W +1 A3 -140 616 | 29 7 2N W +1 aQ -150 220
231 2¢v W = a5 -110 022 | 30 2 2¢ W +1 aQ -140 616 921 3N W = aQ -400 022
Board: 13 Board: 14 Board: 15

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score
229 3¢ W -2 7 200 21 1 | 2612 3¢ W -1 vQ 50 21 1 330 4 N = ¢4 620 21 1
1124 IN E -2 &2 200 21 1 | 30 8 3N E -1 &8 50 21 1 1123 4v N = ¢4 620 21 1
31 3 2¢ N +1 vA 140 18 4 | 28 7 3v S -1 aA 50 18 4 | 1021 2¢ N 2 &5 170 18 4
28 7 1a S = &3 80 16 6 1124 2N N -2 #6 -100 16 6 126 3¢ E -3 v4 150 15 7
523 2v N -1 «Q -100 13 9 421 3¢ W = w6 -110 12 10 727 2N N +1 2 150 15 7
625 2v N -1 &4 -100 13 9 625 2¢ W +1 v6 -110 12 10 522 2% N +1 ¢4 140 11 11
421 IN W +1 v7 -120 10 12 932 24 E = ¢A -110 1210 | 31 9 2« N +1 ¢2 140 11 11
932 2v N -2 «Q 200 715 229 3¢ E +1 vA 130 715129 8 2¢ N = «10 110 715
30 8 3v S -2 «Q 200 715 | 1022 4¢ W = %6 -130 715|132 4 2¢ N = a2 110 715
127 3v N -3 «Q 300 418 523 24 E +2 ¢10 -170 319 | 28 2 IN N = o2 90 418
1022 4v N -4 2Q 400 121 | 31 3 24 E +2 10 -170 319 624 2v N -1 a2 -100 121
2612 24 S 4 &A 400 121 127 44 E = vA 420 022 | 1225 2v N -1 a2 -100 121
Board: 16 Board: 17 Board: 18

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score

624 IN E -2 ¢5 200 22 0 726 44 S +1 &K 450 22 0 | 29 3 3N N +1 v4 630 22 0
10 21 3a W +1 v4 -170 19 3 828 1a S +4 47 200 17 5| 1224 IN N +4 a7 210 20 2
29 8 24 W +2 ¥8 -170 19 3 | 21 5 1a S +4 ¢10 200 17 5| 3210 2¢ N +1 v4 110 18 4
727 24 W3 &3 2200 16 6 | 29 3 34 S +2 &K 200 17 5 125 2¢ N =94 90 11 11
1225 54x N -3 aA 500 14 8 | 3210 1a S +4 ¢2 200 17 5 227 2¢ N =97 90 11 11
126 464 W = 8 -620 715 125 14 S +3 &7 170 715 431 2¢ N =997 90 11 11
330 4v E = &7 -620 715 227 24 S +2 &K 170 715 623 2¢ N =997 90 11 11
522 44 W = &A -620 715 431 14 S +3 »10 170 715 726 2¢ N = v4 90 11 11
1123 4v E = &7 -620 715 623 1a S +3 44 170 715 828 2¢ N = o2 90 11 11
28 2 4v E = 410 -620 715 | 1122 24 S +2 v10 170 715 | 30 9 3¢ N -1 v3 -100 4 18
31 9 4v E = &7 -620 715 | 1224 34 S +1 v9 170 715 | 1122 3N N -2 v7 -200 220
32 4 4v E +1 o] 650 022 | 30 9 34 S = &4 140 022 |21 5 3N N -3 v7 -300 022

AHN Nerja Bridge



2017-10-25 2017-10-25

12 tables, 24 pairs. Number of boards: 24. Average: 264. Tiebreak.

Final result

Board: 19 Board: 20 Board: 21

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score
1223 2N N +3 v6 210 22 0 124 2¢ W +1 A5 -110 22 0 826 4v S +1 «4 650 22 0
124 IN N +2 9 150 20 2 226 3¢ W2 &6 -150 12 10 621 4¢ S = a6 620 19 3
226 2N S = ¢8 120 18 4 532 3¢ W12 A5 -150 1210 | 2212 4¢ S = a4 620 19 3
532 3¢ N =96 110 15 7 725 3¢ W22 -150 12 10 724 2% S +3 a7 200 15 7
22 6 3¢ N = ¢4 110 15 7 827 3¢ W 2 A5 -150 1210 | 3211 2¢ S +3 &9 200 15 7
328 3¢ N -1 v4 -50 814 929 3¢ W2 ¥2 -150 12 10 327 3v S +1 «4 170 11 11
827 3N N -1 %6 50 814 | 1223 3¢ W +2 a5 -150 12 10 928 2¢ S +2 a10 170 11 11
21 11 3¢ S -1 ¢vK 50 814 | 22 6 3¢ W2 #10 -150 1210 | 1030 2« S +1 a9 140 8 14
30 4 3N S -1 vA S50 814 | 30 4 2¢ W13 &Q -150 1210 | 31 5 44 W -2 97 100 616
3110 3¢ N -1 v4 50 814 | 3110 3¢ W 12 a5 -150 12 10 429 34 W -1 v7 50 418
929 3N S -2 vA -100 2 20 328 3N W = 2 -600 220 2 25 Pass 0 220
725 2v W = al0 -110 022 | 2111 3N E +2 a8 -660 022 123 34 W = a7 -140 022
Board: 22 Board: 23 Board: 24

Pair Contr Ld Result Score Pair Contr Ld Result Score Pair Contr Ld Result Score
123 460 E -2 97 200 18 4 | 23 7 2¢ W = &3 -110 22 0 530 3¢« E -2 ¢2 100 22 0
225 44 E -2 97 200 18 4 326 1v W +2 o2 -140 17 5|23 7 IN E = &4 90 20 2
928 44 E -2 92 200 18 4 530 3v W = AA -140 17 5 825 3v N -2 ¢A -100 17 5
31 5 44 E -2 &8 200 18 4 825 3v W = &Q -140 17 5 | 32 6 3v N -2 ¢A -100 17 5
3211 44 E -2 a4 200 18 4 1131 3v W = a2 -140 17 5 1029 3¢ E = vA -110 14 8
327 34 W -1 vQ 100 8 14 122 2¢ W +2 &5 -170 10 12 326 4¢ E = 9wA -130 913
429 40 W -1 «Q 100 814 | 1029 3v W +1 a2 -170 10 12 1131 4¢ E = 9wA -130 913
621 3¢ W -1 vA 100 814 | 32 6 3v W +1 a2 -170 1012 | 2112 3¢ E +1 a4 -130 913
826 34 W -1 vQ 100 8 14 927 34 S -2 %Q 200 616 | 24 2 3¢ E +1 &9 -130 913
1030 44 W -1 &6 100 814 | 24 2 IN N -3 #8 -300 418 122 4¢ E +1 vA -150 418
724 24 E = w2 -110 220 428 4 W = ¢A -620 121 428 4v N -4 oA 200 220
2212 1a E +2 8 -140 022 | 2112 4¢v W = vQ -620 121 927 3N E = a4 -400 022
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